Assembly Instructions - External Wall Plate Models: WSP 716-GS, WSP 716-GB,

VI3V X Read entire instruction sheet MAXIMUM LOAD CAPACITY- WSP 724-GS, WSP 724-GB
before you start installation and assembly. 200 Ib (91 kg) ’

WSP 716-GS, and WSP 716-GB for studs on 16" (406 mm)
centers, contains four cable management ports.

A WA R N I N G WSP 724-GS, and WSP 724-GB for studs on 16", 20" and 24"

(406 mm, 508 mm, 610 mm) centers, contains four cable

» Wall or mounting structure must be capable of sup- management ports.
porting a minimum static load of 600 Ib (272 kg).

PARTS LIST PARTS LIST

m m 0 0
#Q 9 #| 9 @
|3 8 R
al~ ~ a) E E
o|l% & Qlow &
2|z 2 PART # QTY. DESCRIPTION 2|z 2 PART # QTY. DESCRIPTION
v| A 024-P1043 1 wall plate 16" centers v| A 024-C4043 1 wall plate 16" centers
v 024-P1042 wall plate 24" centers v 024-C4042 wall plate 24" centers
v v| B 510-9108 10 1/4-20 x 1/2" phillips screw v v| B 520-9511 10 1/4-20 x 1/2" phillips screw
v v/| C 520-9521 12 1/4-20 x 2 1/2" phillips screw v v/| C 520-9522 12 1/4-20 x 2 1/2" phillips screw
v v'| D 560-9708 12 toggler v v/| D 560-9708 12 toggler
v v'| E 540-1063 22 washer v v| E 540-2056 22 washer

Cable M t Port . .
able Management Forts *Note: The mounting hole which

is closest to the lip of the plate
A indicates the up position.

e O -k E:Dj A
S R B et S S S

END UP END UP
WSP 724-GB, WSP 716-GB,
WSP 724-GS WSP 716-GS
Note: Wall plate may
appear slightly different
than illustrated.
lof4 ISSUED: 01-23-07 SHEET #: 024-9011-1

Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.



Wall plate (A) can be mounted to three studs that are 16" apart on center for WSP 716 models and 16",
20" or 24" on center for WSP 724 models. Use a stud finder to locate the edges of the studs. Use of an
edge-to-edge stud finder is highly recommended.

Based on their edges, draw a vertical line down each stud’s center. Place wall plate on wall as a
template. Level plate, and mark the center of the twelve mounting holes. Make sure that the mounting
holes are on the stud centerlines. Drill twelve 1/2" holes through drywall and metal studs. Note: It may be
necessary to drill 5/32" pilot holes prior to drilling 1/2" holes.

A WARNING

e Product must be mounted through drywall that has a
minimum thickness of 1/2" and into metal studs, 26
gauge or heavier.

» Make sure that togglers are anchored into the center
of the studs as shown in figure 1. The use of an "edge

to edge" stud finder is highly recommended.

| 20f 4 ISSUED: 01-23-07 SHEET #: 024-9011-1

Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.



Drill 1/2" (13mm) dia. holes through drywall and studs at locations corresponding to wall plate. Insert togglers (D)
as shown below...

EXD Pivotend of toggler (D). _
e —metal stud
B I

u ——drywall

m Push into hole.

m Rotate toggler (D)

clockwise to wedge it
againstinside walls
of metal stud.

m Slide plastic cap
forward while pulling =S

back firmly on ring.

1=

m Break off excess.

m Align wall plate with wall plate—
hole in wall and C H E}
fasten using 1/4-20 x

2 1/2" screw (C).

3o0f4 ISSUED: 01-23-07 SHEET #: 024-9011-1

Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.
© 2005 Peerless Industries, Inc. Allrights reserved.

Peerlessisaregistered trademark of Peerless Industries, Inc.

Allother brand and product names are trademarks or registered trademarks of their respective owners.




o Fasten wall plate to wall using twelve 1/4-20 x 2 1/2" phillips screws (C) and twelve washers (E) as shown below.

012"
(13 mm)

WSP 716 WSP 724

o See below for proper holes to attach mount to wall plate. Attach wall mount to wall plate (A) using 1/4-20 x
1/2" screws (B) and washers (E) as indicated below.

WSP 724 WSP 716

* %
000 O
* %

0

0

0

0
* %
000 O
o000 O
* %

0

0
0
0
Q0O 0

BB BD
R L B A L

PLA 50 = %

PLA 60, PLAV 60, PLAV 70 =O

| 4 of 4 ISSUED: 01-23-07 SHEET #: 024-9011-1

Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.





